T1Y-7 SUMPOBRIESANILTOI I L
— MR REA Y AT T IR E RS

147 NEBEEE (EPD) HREBTRAEAGE1-14-8
KANDA SQUARE GATE
BHRES © JR-Al-24416E https://ecoleaf-label.jp

E/OL—H—EEH

m 4-in—1 Monochrome Laser Printer
at yourside M FC_L2800DW for Europe

TS5 —TI%#% =X &%t / BROTHER INDUSTRIES, LTD.

BEE(I EHRES JR-AI-24416E
ERPCRES  PA-590000-Al-08
WR1BEHEY
PCR% ERAH e [5E8HR]
HEXRERRE 2FA 202543 H28H
| p=2edi) O RI&4 WIEETEHE 2025438120
BEMETE, £E, @, F8-HEEE, BE-UYI) REEAR YATLRIEAR
WRIES JV-AI-24416E

HETEshEART 2030&3A11H

HEOBRK, TEMLK-E PCRLE1-DETE
A= : MFC-L2800DW RERE 20235 98 1H
-12EH (EPAR) ZER #mlF Ex
-£/70 (=B EEAY AT IR EHERE)
ENRIZRE : 32ppm (A4) B=HRIAE"
-BRARETIR A4 NERREER B9 RRIE
FYUV /A~ A% [FAX/ B B EENRI/
ADF(Rf& B #5tiA &) ISO14025(E>TeAE & R U7 -5 OMIL LI AREE
AREE ¢ 11.6kg. LA © 3.1kg O EB WAHEB
B/ HERLAN Y27 LRI BB EAAORIOHA R, VAT LREET--BEAD
X ABBEUropeftEmI TY. ATEE .
RLabtE
JoY-T A
inml—ecoleaf-jimukyoku(at)brother.co.jp https://global.brother/ja

Zi#xES © JR-Al-24416E


mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

sl

WRRIENE

I3y-7J

S

IRIBEE S

(EPD)

EHRES ¢ JR-AI-24416E

SUMPOIRIESANINTOI S s
—MALEEAYRATFIINR EHEE R
R AEXAMHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

O517Y1 )V R E T lifa R

OHEERHRICEITZEMIER

EREEDOEERE (SFUA)

0% 20% 40% 60% 80% 100%
SUEZEh IPCC 2013 GWP 100a 540 | kg-COzeq
[7ge(d 0.32 | kg-SO2eq
HERHE 0.023 | kg-Sbeq
m DR E mQEE = Q&
BOFERA-HEER BQEE-UHA1IL
AR IHH| EfI &% OFEMERE QfE Qi |oEm-wrEE ORE-UFIL
SUEZE IPCC 2013 GWP 100a| kg-CO.eq | 5.4E+02 | 9.6E+01 52E+00 | 85E+00 | 4.1E+02 | 2.4E+01
[7gkdle kg-SOzeq | 3.2E-01 7.1E-02 3.8E-04 7.5E-03 2.3E-01 1.1E-02
BERHEE kg-Sbeq 2.3E-02 8.0E-03 1.5E-05 3.6E-05 1.5E-02 6.1E-06
@ 545 MBI RUMEICRIT 21
1EH Hif wE-YE (ERES) Bify
FBEEREER 2.5E+01 kg s 2.5E+00 kg
FEBERREIRILY - 7.9E+03 MJ Sus 5.5E-02 kg
HERBREIR 5.9E+01 kg TIVIZOA 7.6E-02 kg
BAERTREIRILF- 1.6E+02 M) ZOthEE 0.0E+00 kg
wIKDHE 6.5E-01 m?* T3AFYY 7.4E+00 kg
N 2.3E-01 kg
52 6.8E-01 kg
AP/ 2.6E+00 kg
R4 [E] B EAR 4.2E-01 kg
Z0ft 7.6E-01 kg

BEt (EPAR) . BEMFEAM | 5. £EERIAER : 153,600/, EIREAIESZE (J\F—2)
EIRIFRIEIRIBERICSER, BRAULEIFRIILF-RSY-TOTS5 A Ver.3.0. A& (EEuropeftmlF

: ISO/IEC 19798

©-1.ZDMDIRIFRIE IR

AE OB EEL TELLRO M - RUEBLAEEFISO14001BEZEHFITHICTITHONTWET,

OFERALEZRT-9DEXS

IDEA v2.1.3 RUSUMPORIZESANIILTOT S ABHRIREA v1.18 ZEA LI,

®fE

O -FHEED L. PCRELUVE

OLLR(OVWTE, BE - EEHEICRENRAEERHLLLEELCLLEHONI A,

E-EEREESBLWRSN,

(BBB%URL : https://ecoleaf-label.jp/regulation/)

EFHES ¢ JR-AI-24416E



